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132���	546��46� )87 9;:=<?>A@CBD>FEG>HE#IJECK�L"MNE#INIPOFQSRDIJITB"OHU5<?R�VPE�IW<�U6E�@ a = −2 X b = −3 ECV c = 4 Y

E = 2a − 3b − 5c F =
5a − c

b − c
G =

c − a

b
− 2

:=<?>A@CB">HEGEZRDIPB"OFVPE E + F − G Y
132���	546��46�[* 7 \(]_^0E#@CVPB"E`>HE#IJQSL�a#MN<?VPOHQ6RDI=L"MNQ6L�QSIPaZE�I=EZR�b�aCVc<?OH>F>A<?R�VW>HE#IW@Z<6>H@ZB">AIGd

A = (−7 + 3) × 4 B = −7× 2 + 3 × (−2) + 2

C = (1 − 4) × (4 − 3) × 5 − 12× (−1) D = 24− (1 − 3) × (−2− 8)

E = [36÷ (−9) + 2] × 5 − 2 F = (−4× 5 + 2) ÷ (2 × (−5) + 1)

132���	546��46�+e 7 fhgiQ6R"R"Ej>HEjITOHk6RDEGb"E#I3\(L"MNQ�b�B"OFVNIWIPB"OFU5<6RSVcI Y"l BDITVPOFmDEj>A<(MNaZL�Q6R�ITE Y
I = 3, 1 × 4, 2× (−1, 2) × (−1, 3)× 4, 7× (−1, 9)

J = (−19, 1)× (−37, 2)× 17, 4× (−43, 7)× (−51, 2)

132���	546��46��, 7 n

gi<6RDIJ>A<omDk6B"MNEG@COFpqb�E�IPIPQ6B�IGd

L̂FE = L̂UE = ŜUR = ŜFR

ÊFR = ÊUF = 55◦; L̂FS = 115◦; ÛFR = 20◦

R̂UF = 70◦

9 YWr QSRSVNMPEisSBDEt>FE�IuL�Q6OHR�VNI F X L X E X U X R ECV S ITQSRSV
IPB"M`B"R!vhw#voE�@CEZMc@C>HExb�QSRSV(Q6R8L"MNa#@ZOHIPEZMc<�>FEyb"OH<?p
vhzCVNMPE Y

\ Y :{Q6R�I|VNMPB"OAI�@CECVPVPE=mDkSB"MPEJIN<6@c}D<6RSV~s�B"E FU = 9 cm Y

F U

S

R

L
E

132���	546��46�[� 7 ����Q6OFV;b�EZB�K�b�MNQ6OFVPE#I (AB) ECV (d) L�EZMNL�EZRDb�OA@CBD>H<6OFMNE#IjE#R C Y�� Ex@ZEZMc@C>HE C <�L�Q6B"M
b�OA<?vhzCVNMPE [AB] Y�� Ex@CEZMc@C>HE C′ <�L�Q6B"M`b"OH<6vozZVPMNE [CB] ECV D E�I|V`B"R8L�Q6OHR�V;b%� OFR�VPE#MNIPE#@CVPOHQ6R8b�E�>A<
b�MNQ6OFVPE (d) ECV3b�B�@CE#MN@Z>FE C Y
9 Y :{Q6R�I|VNMPB"OAIJ>A<;m�k6B"MNEj<�U6E#@ AB = 8 cm ECV AC = 3 cm Y
\ YW� E�@CE#MN@Z>FE C′ ECV{>HEiIPEZkSvhEZR�V [BD] ITE�@CQ6BDL�E#RSV=EZR E Y�r QSR�VPMNE3s�B"Et>HE#I=b�MPQSO�VNE#I (AD) ECV (CE)
IPQ6R�VWLD<?Mc<?>H>Fz#>FE�I Y

f YW� <yL�E#MPL�EZR�b�OH@ZB">A<?OHMPE`E#R D � >H<�b�MPQSO�VNE (CD) @ZQ6B"L�E;>A<xb�MNQ6OFVPE (CE) EZR F Y0r Q6R�VNMPE;s�B"E(>FE
s�BD<6b"MPOH>H<?VPz#MPE ACFD E#ITVtB"R�LD<?Mc<?>H>HaZ>HQ6k6Mc<?vhvhE Y
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